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) Calculate the inverse of the following matrix by 7)Examine the following equation systems
iaus iteration Method. ab,c are any number.
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State true or false. ap S : ©
a)if e=0 then this system has multiple solution ;
b)if e=0 then this system has no solution + "~ s e i w e
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9) Calculate the determinant of the following
matrices P,Q.,R
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10) The linearly dependent vectors X)Y,Z are
given as follows

a d g
X=|b|, Y=|e |, Z=|h |,
c f k
The matrix Q and vectors M,N,Q are given below
a d g Mz[a d g].
P=(b ¢ h{, N=[b e h]
c £ k Q=[c f k]

State True or False
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b) P exists ?
c) The vectors M,N,Q are linearly dependent..”]-

d) rank P=3 P

11) The linearly independent vectors X,Y,Z and
matrices P,Q are given as follows
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State True or False
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